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BUSINESS STATISTICS–II

Paper–BBA-210

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1 vfuok;Z gSA

Compulsory Question

1. Explain the following : 2×8=16

fuEufyf[kr dh O;k[;k dhft, %

(i) Rank Correlation. (ii) Partial Correlation.

jSad lglaca/A vkaf'kd lglaca/A

(iii) Mathematical Probability. (iv) Sample space.

xf.krh; laHkkfodrkA uewuk LFkkuA

(v) Detrending of Data. (vi) Total variation and Total variance.

MsVk dk fMVªs a¯MxA dqy fHkUurk vkSj dqy foHksnA

(vii) Sample and Population mean.

uewuk vkSj tula[;k ekè;A

(viii) Excel function for Random Number.

jSaMe uacj ds fy, ,Dlsy iaQD'kuA

UNIT–I

2. (a) What are the methods of studying Correlation? 8

lglaca/ dk vè;;u djus ds D;k rjhds gSa\

(b) Compute the correlation between credit period and sales from given

Data : 8

fn, x, MsVk ls ØsfMV vof/ vkSj fcØh ds chp laca/ dh x.kuk dhft, %

Sales X (000’`) Credit Period Y (Pays)

fcØh ,Dl (000*`) ØsfMV vof/ okbZ (Hkqxrku djrk gS)

0-5 1

5-10 7
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10-15 15

15-20 15

20-25 15

25-30 25

30-40 21

40-50 22

3. (a) Let 1 2Y a a X= +

1 2X b b Y= +

Then show that 2 2| r | a b= ⋅ , what will be the numerical sign of

“r” ? 8

rks fn[kkb, fd 2 2| r | a b= ⋅ , “r” dk vadh; fpUg D;k gksxk\

(b) Find the value of b
2
 with Data given in Q.II (b). 8

Q-II (b) esa fn, x, MsVk ds lkFk b
2
 dk eku Kkr dhft,A

4. Explain the meanings of joint marginal and conditional probability. Suggest

one method to assign probability of inventory demand on six days of a

weak from past data as an Inventory Manager. 16

la;qÙkQ lhekar vkSj l'krZ laHkkO;rk dk vFkZ Li"V dhft,A bUosaVªh eSustj ds :i
esa fiNys MsVk ls Ng fnuksa dh lIrkg esa bUosaVªh fMekaM dh laHkkouk dks vlkbu
djus ds fy, ,d fof/ lq>kb,A

5. The probability that a person stopping at a petrol pump will ask to have

his types checked is 0.29 and the probability that he will ask to have his

oil checked is 0.19 and the probability that he will ask to have both of

them checked is 0.07. What is the probability that a person stopping at

petrol pump :

,d isVªksy iai ij #dus okyk O;fÙkQ vius çdkj dh tk¡p djus ds fy, dgsxk]
bldh laHkkouk 0-29 gS vkSj laHkkouk gS fd og vius rsy dh tk¡p djus ds
fy, dgsxk 0-19 gS vkSj laHkkouk gS fd og mu nksuks a dh tk¡p djus ds fy,
dgsxk 0-07 gSA ,d O;fÙkQ ds isVªksy iai ij #dus dh D;k çkf;drk gS\

(a) Who has oil checked will also have tyres checked? 5

rsy dh tk¡p ftlus dh gS D;k Vk;jksa dh Hkh tk¡p djsxkA
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(b) Will have either tyres checked or oil checked? 6

;k rks Vk;jksa dh tk¡p gksxh ;k rsy dh tk¡p gksxh\

(c) Will have neither oil nor tires checked? 5

u rks vkW;y dh vkSj u gh Vk;jksa dh tkap gksxh\

6. Discuss the nature of variation in a time series Data process. Write the

steps to measure seasonality index with monthly Data. 16

,d le; Üka `[kyk MsVk çfØ;k esa fHkUurk dh çÑfr ij ppkZ dhft,A ekfld
MsVk ds lkFk ekSleh lwpdkad dks ekius ds pj.k fyf[k,A

7. In a test given to two groups of students, the marks obtained are as follow:  16

Nk=kks a ds nks lewgksa dks fn, x, ,d ijh{k.k esa çkIr vad bl çdkj gSa %

G
1

18 20 36 50 49 36 34 49 41

G
2

29 28 26 35 30 44 46

Can we say conclusively that there is a significant difference between the

two means of these groups? Use independent sample t-test.

(t at 5% find + 4 = 2.14)

D;k ge fu.kkZ;d :i ls dg ldrs gSa fd bu lewgksa ds nksuks a lk/kuksa esa
egRoiw.kZ varj gS\ Lora=k uewuk Vh&ijh{k.k dk ç;ksx dhft,A

(t at 5% find + 4 = 2.14)

8. Write the steps and commands of Excel to solve Q II(b) and Q VII. 16

Q II(b) ,oa Q VII  dks gy djus ds fy, ,Dlsy ds pj.kks a vkSj dekaM~l dks
fyf[k,A


